VR 2 8 BUBTRENVE i

1=E2 PER HERD
“xlan| A 1 5 IR | KA | 255
1| a1 | wee {ZE“)/&%’W VR 3,239  -3.239
o | a/it| wmn |17 YN TRALT R 135 -3, 374
(2 A%y)
4/15 BO%GTEENE 4 H~6H% 420, 000 416, 626
) Ao B —Fv N EHTEER
3 | 4/26| ( %D% Y (3 ﬂ ) 2,989 413,637
( 4 ﬂﬂ)
5 | 4/27 |wemeas (g0 H TR BESCENC 4 A %)) 3,093 403, 781
6 | 4/27 ez |45 H oA BSR4 A 4) 3,093| 400, 688
7 | 4727 [eoemmat BT BEFEE( 4 A4Y) 3,877| 396,811
8 | 5/2 | #m# [#EHEEE B (4 HEEKRD) 6,969 389,842
. VA NANE/ A I =Y S
9 | 5/10| = (3 1) 3,239 386,603
10| 5/10 | s {3/2”‘)*/ b 7m A R 135|386, 468
e AT SF o 2GR 2 8 44
B N2
11| 5/19 | zrts Az H~2 9 g A8 12,312 374, 156
2 A =%y N EHT7EEE
12| 5/26 | #mm (ﬁu% Y4 Hoy 3,070 371,086
o YR 3 3 5
( 5 H4%y)
14 | 5/27 [eemenz (80 B BRE  BESEEH( 5 A4) 3,093| 361,230
15 | 5/27 |@rmias |45 HFT R SR 5 H4)) 3,093| 358,137
16 | 5/27 |wemns | &gl WSRO 5 A4 3,877| 354, 260
17 | 5/31 | #=mw |HEEERE B4 ( 5 AER) 6,732 347,528
18 | 5/31 |m&mztt|da H~5 H ik 43,659 303, 869
19 | 5/31| #e®e |5 H  #HESINE 114, 338| 189,531
20 | 6/10 | wmn {ZE )/7%’\4 VIR 3,239| 186, 292
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1=E2 PER HERD
“xlAan| A 1 5 ILAAAE | AR | 255174
) A —%v b Ta g x—f}
21 | 6/10 | #ms (2 A5 135 186, 157
. A —Fy N Y hHTEER
22 | 6/27| #msn (kD) (5 A 2,913 183,244
23 | 6/27 |memae | FE5s 5 IR 6 B4 3,093| 180, 151
24 | 6/27 |mrmerz 5] B BESEELC 6 A4 3,093] 177,058
25 | 6/27 |armrs |4 H R BESERI( 6 A4Y) 3,093 173,965
26 | 6/27 |weum s [ E g BEGCRH( 6 H4Y) 3,877 170,088
27 | 6/30 | wm# [#EEESE B ( 6 HiEKR) 6,737| 163,351
e | TR R A LG
28 | 7/11 | #mn (5 B3 3,239| 160,112
29 | 7/11 | s |12 Xy HTRALT R 135| 159,977
(5 H%)
30 | 7/11 [memens | B ARE TR BESERI(C 6 A4 3,670| 156,307
7/15 BEIEEE 7 A~9 A% 420, 000 576, 307
; Ao —Fy b EhHTEEE
31 | 7/26 | () (6 A 3,054| 573,253
32 | 7/26 |memerm |Fese i BESEE( 7 A4 3,093| 570, 160
33 | 7/27 [wemrm |8l B ErRE BESERN( 7 A4 3,093 567,067
34 | 7/27 [wemrm B BB BESEE( 7 A4 3,093 563,974
35 | 7/27 |ermmat | R BEEERHC 7 H4Y) 3,877| 560,097
36 | 7/31 |mawan|6 A~7 A4 R 52,408 507, 689
37 8/1 | #ms# |HEHESS (7 HEEKRD) 7,172 500,517
VTR N7 ENA LBE R
B
38 | 8/10 (6 B 3,663 496,854
A B —=Fy h TanfZ—f}
B
39 | 8/10 (6 A 135 496, 719
40 | 8/10 |mkmiAaz | H AR HTE R 7 A4 3,670 493,049
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B VagR CHERD

“xlan| A 1 5 IR | KA | 255
41 | 8/26 | i j“%ﬁéﬁ ; %77;7@%*4 3,035| 490,014
42 | 8/26 |wrmk Aty [3E5E R BESEEN( 8 A4y 3,093 486,921
43 | 8/27 |wem Aty |5 B &SR 8 A4y 3,093 483,828
44 | 8/27 e at | AT BESCEH( 8 A4Y) 3,877 479,951
45 | 8/29 |@rmA®: |5 HFT R BESOEH( 8 A4Y) 3,093 476,858
46 | 8/31 | wmw |HEHTEAT  BHE( 8 AFERSD) 6,553 470, 305
a7 [ o/12| wem ?ZEM/7%’\4 VIR 4,172 466, 133
a8 | o/12 | wasm {?2;\?‘/ h TS R 135/ 465,998
49 | 9/12 |eemase | A AR ETR BEFEEH( 8 H4Y) 3,670| 462,328
50 | o/26 | w7 *)/E o oy I 3,018| 459,310
51 | 9/26 e |Fioc 8 BEFEE( 9 H4Y) 3,093| 456,217
52 | 9/27 At (5 HOETEH  BERCEE( 9 H47) 3,093 453,124
53 | 9/27 | kAt | FOFTE  WESCEH( 9 H4p) 3,093| 450,031
54 | 9/27 |wrm s (EENETRE  BERCEFC 9 A ) 3,877| 446, 154
551 9/30 [ wmw (HEHFERE BHe( 9 HEEKRD) 10, 155| 435, 999
56 | 9/30 [mamren(8 H~9 H4y ity 206,520 229, 479
57 |10/11] e ?g;’\)/7%”4” TBIEF 4,175| 225,304
58 [10/11] wmw ?gﬁ;f/ b 7E AR 135 225,169
59 | 10/11 | mrmins | H AFRAHTH TR 9 H4y) 3,670| 221,499

10/17 EOSTEEVE 10 A~12 A% 420, 000 641, 499
60 [10/21] #mw |SH5H LA E 11,340( 630, 159
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“xlan| A 1 5 IR | KA | 255
61 |10/26| s j“%ﬁéﬁ . %77;7@%*4 3,029| 627,130
62 |10/26| et |Fi5e g BEFERI( 1 0 A %)) 3,093 624,037
63 | 10/27 | ez | g HErRE BEFERI( 1 0 A %)) 3,093 620,944
64 |10/27 ez |43 HFrR BEFERIC 1 0 A %)) 3,093 617,851
65 [10/27 | semnse | kg BEHOEF( 10 A %)) 3,877| 613,974
66 |10/31| wes# |HEHFERE B (1 0 AFERSD) 7,400| 606,574
67 [11/10| e ?;Eﬁ)/7%’\4 VIR R 4,922| 601,652
68 [11/10] wmn {9/2;\)*‘/% TR AR 135| 601,517
69 [11/10[srmrz 2\?: AT EEERHC 10 A 3,670 597,847
70 [11/17] #mw S E 500| 597, 347
71 | 11/27 | weminss |0 B EFTRE BESERNC 1 1 A4 3,093| 594, 254
72 | 11/27 et (I ENETRE BERCRF( 11 A ) 3,877| 590,377
73 [11/28] e f;f%{’f‘ﬁ ) SOEZ\;E%** 2,916| 587, 461
74 | 11/28| et (e TR BERERF( 11 A4Y) 3,093 584, 368
75 | 11/28| wemins: | f3 0 TR BESERFC 1 1 A4 3,093 581,275
76 |11/30 W (HEHFESE B (1 1 AFEKS) 6,543| 574,732
77 |11/30| men (11 H AHESINE 157,064 417,668
78 |12/12| wmn {fg ;)7 T VIBIER 3,500 414, 168
79 |12/12| wmn ?fg’EZ{ b 7E AR 135| 414,033
80 | 12/12| ermins ;l\)zii%?é/ﬁ%ﬁ%ﬁ fsckt( 11 A 3. 670| 410, 363
81 [12/26| et |Feoe TR BEGeEH( 1 2 A4)) 3,093 407,270
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“xlan| A 1 5 IR | KA | 255
82 | 12/26|wemi At | mEHT R BEREEH( 1 2 A49) 3,877| 403,393
83 [12/26| wse | g_g%{j‘i;\)/? ) ‘fﬁz\;@%ﬂ 2,920| 400, 473
84 |12/27|weemns: |8 HgrRE RBEFERI( 1 2 A%Y) 3,093 397,380
85 |12/27 et |43 HgrR  RBEFERI( 1 2 A%Y) 3,093| 394,287
86 [12/27|memr®|1 0 H~12 A4y Jikk 102,861 291, 426
87 | 1/4 | we# |HEHFERE B (1 2 AFEKRS) 6,900 284,526
8 | 1/10| wew {?i %;\)7 T VIR 3,241| 281,285
89 | 1/10| wew {ff;j}{ h TS R 135| 281, 150
90 | 1/10 |eermns gf‘iﬁ?ﬁ%ﬁ B B (1 2 A 3,670 277, 480

1/16 BB EhE 1 A~3 A% 420, 000 697, 480
91 | 1/26 |@emmrs|FEsedrR]  BEFeRH( 1 H %)) 3,093 694, 387
02 | 1/26 | wwsne [] %%’é\)/? ) ggz\;@%ﬂ 2,908 691,479
93 | 1/27 [eemeas 2 AR BESERI( 1 A ) 3,093| 688, 386
94 | 1/27 |emmns | m gl BESERIC 1 A5 3,877 684,509
95 | 1/27 |@emmrs |f5 B R BEFERE( 1 H %)) 3,093| 681,416
96 | 1/31 | wmn |HEHFER B ( 1 AFERS) 6,556 674,860
o7 | 2/10 | weswe {?; ";)7 T VIR 3,241| 671,619
08 | 2/10 | wasne ?{ﬁEZ\{ h 7w s R 135| 671,484
99 | 2/10 |weumase | 0 AR E IR SR 1 A% 3,670 667,814
100| 2/27 |@emerse | Fese iR BEZeR( 2 H4Y) 3,093 664,721
101 | 2/27 [@emense |/ B3R BEZeRH( 2 H4Y) 3,093 661,628
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“xlan| A 1 5 IR | KA | 255
102 2/27 [wemmrse |50 B3R BEORF( 2 H4)) 3,093 658,535
103 | 2/27 [wemiree | =g BESOEHC 2 A) 3,877| 654,658
104| 2/27 | wmsne j“%ﬁéﬁ Ay B 2,972| 651,686
105] 2/28 | #m# [HEHER B ( 2 AFEKRD) 6,546 645,140
106| 2/28 |mumrrs(1 H~2 H4 ity 52,810 592,330
107| 2/28 | miex [1H- 2 A4y WHESI#E 261,260 331,070
108| 3/10 | wen {fg’\)/7%’\4” IR 3,241| 327,829
109 3/10 | wen {1/2;\)?/ h TS R 135| 327,694
110] 3/10 |wemins: | B AR HRE SR 2 A4y 3,670| 324,024
111 3/23 | wisze | S A 412 323,612
112] 3/27 |@eminse |0 B R BESER( 3 A4y 3,093| 320,519
113] 3/27 e Aty | B EgrE  BESeEH( 3 A4y 3,877 316,642
114 3/27 |weminse [FEoe BT BESCRE( 3 A4) 3,093| 313,549
115] 3/27 |@emins: |43 05 BESER( 3 A%y 3,093| 310, 456
16| 3/27 | s |22 Z\ﬁ o 1Ay B F 9,980 307,476
117| 3/31 |m#msn|3 A4y gk 50, 456| 257, 020
118( 3/31 | wrew |3 A4y WHESINE 32,100| 224,920
119| 3/31 |eormmnse | FEEEA 3,000| 221,920
120] 3/31 | wm# [HEHFEEES B ( 3 HEEKRD) 6,561| 215,359

& H 1,680,000(1, 464, 641] 215, 359
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